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Note: (q) 4] questions gre compulsory,

#include<conio, h>

int main(} .
{ int aaaaaaaaaaaaaaaaaaaaaaaaaaaaa,b,c,ej;'
scanf(“%d%d”, &b, &c); i
b+e=d;

d=z+c;

d=b/c; /* if =0 */

)

assumingthat th runs on different
machine M and.generates code for machine M,

(b) Contder the given below transition systerm:
: 0

and prove that the regular expressjon represented by it js
(O+1(1+01)* 00)*
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Q3

Consider the following code segment and count the number of tokens

int main(}

{ int a,b,¢,d;

scanf(“%%d%d”, &b, &c);
b+c=d;

d=ztc;

d=b/c; /* if ¢=0*/
printf(“values of d is =%d”, d); s
in /*Hello*/ t m=40; §h 2,
) :

iy, i F

Q4

Convert the given Non-Deterministic Finite Automata (NDEA) M?ngi*
Deterministic Finite Automata (DFA) M. & ;';’{: 3 N
M=({qo, 01,02,a3}» {0:1}, T, qo, {q3}) where the transition sys“f“a;‘,rkl s
given as under: i )

| State/Y
-2 qo
q

q2

L
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